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You can eliminate all denominators by
multiplying both sides of the equation
by the LCM of all denominators.

This is only one of several methods
you can use to solve this problem. We
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Properties of Real Numbers

Let a, b, and ¢ represent real numbers.

Property Addition Multiplication
Closure a + b is a real number. ab is a real number.
Commutative a+b=b+a ab = ba
Associative (a+b)+c=a+(b+c) (ab)c = a(bc)
Identity a+0=a,0+a=a a-l=a,1-a=a
Inverse a+(-a)=0 a-%:l,a #0
Distributive a(b +c)=ab + ac

The Multiplicative Inverse of a number is it's RECIPROCAL.

The reciprocal of a number ....

e |s one over that number
® Has the same sign as that number
® The product of a number and its reciprocal is always ONE.

The Additive Inverse of a number is its OPPOSITE.

The opposite of a numberis....

e The same distance from zero but on the other side of zero
® Same # but different sign
® The sum of opposites is always ZERO.



